PROFESSIONAL EXAMINATION
. . BOARD
Professional -
Bbgmmotion Middle School Teacher
Eligibility Test — 2018
25th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficultiesin ____./ Taddr (Gﬁ'ﬁ'%ﬂi) =i | |
HiSAIE 1t B

1. Vision / ?@

2. Intelligence / Q@
3. Social interaction / TSI JUH

4. Body movement / IR faRiterd

Correct Answer :-

e Social interaction / JrATSTD JUh

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

ST AaeR fazayu A & fore ue siftre guTdt SraRTes faftr ar=r s @:
1. Dyslexia/ f&xaifaRyan

2. GDD / SiigISt

3. ADHD / TSIT=Sl

4. ASD/ TTHS!

Correct Answer :-

. ASD/ UUHE!

3) Which of the following is not true about the team teaching method? / A fRrgvugfa s an &

fFrafafea & @ o9 s T8 82



1. Difficulties are faced in maintaining harmony among team members / T & Jed! & di9 qre CRIY REGE
T HI3T3aN BT T BT TS g

2. It is cheaper than other methods of teaching in terms of finances / g fog & deuf A fRreor & 3 fafdat ot
I & T ]

3. Teachers get better opportunities for optimal utilization of human resources / HIHd TG1eE & garad ST
& fog Rree! & TgaR sawR firad B

4, It is a highly flexible method of teaching in terms of scheduling/ﬂ?W—ﬁW%WﬁﬁﬁT&m
B TH fAd Tl R g |

Correct Answer :-

It is cheaper than other methods of teaching in terms of finances / dg fag & dey | fRreur & 3 fafda
®I ga1 H I B |

4) Which of the following elements is there in problem-solving skills?/ fafsfea s s an
- AR SI=ra & 9w 82

1. only the steps to reach the goal / Pad dd dH CIEV?J%[ & TROT
2. only the goal / Had a&d

3. only the problem / Had THXT
4. all of the above/ IURTGd IHt

Correct Answer :-

« all of the above/ IURTad gHT

5) A child thinks that because he wants to have pizza for dinner, his parents must want it too. What

type of thinking is this? / T S<d1 HiadT @ % 9f% a8 7 ¥ @M & foe s agar @, 4 Su&
Hra1-fuar 91 +ft a8} arfeu | ug f5g ueR 91 9= 82

1. Meta-cognitive thinking / €T (Hel-HHTED) i
2. Egocentric thinking / Wahfad (GMaf®) fKidq

3. Abstract thinking / 31'11?? fefa

4. Psychotic thinking / ORI (TgPIcH) feid=

Correct Answer :-

« Egocentric thinking / Wdiad (TR ®) fKid

6) Learners learn best when / ﬁr&mﬁm 3BT e drRaa % old



1. they listen to the teacher and obey all classroom rules. / q fRiefe ot a1 ﬂ:ﬁ 8 3R Parm o gyt i &1
UTe Hd g |

2. they understand the lesson and write good notes. / CACLRED FITEI?[ % 3R 3= :h?.’ﬂ forad %I

3. they understand the relevance and are motivated to achieve the learning goal. / J IRl &f FITEI?[ % 3R
SIfATH & T I T R & o IR B B

4. they follow all rules and are quiet in class. / 3 G4 A &7 UTe Hd & 3R Ham H 2id | 8

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / ERISIUEGICIREER g 3R
ST & & P U R & forg IR g1l 6

7) The seat of Intelligence in human brain is . | 9THa Af&Tss § Tg’@ DT IS gl
1. Brainstem / STCH
2. Cerebellum / 3TARTSH (TRETTH)

3. Cerebrum / THR<TSH (@m

4. Spinal cord / HSGUS (WT3-d HI8)

Correct Answer :-

. Cerebrum / JHIRTSH (@m

8) Which of the following is the best way to increase correct responses and appropriate
behavior? /

we! ufafearsit ok Ifra auasR @t 9 & forg FrafafEa # & o-a1 ged sreo1 afie1 872
1. Punishment / €8

2. Praise / U=

3. Ignorance / S{IITAT

4. Strictness / Il

Correct Answer :-

e Praise / U0

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of
exceptional children? /



STYRU 9] &t AdgR Jdadl gawrefi & e i Iu=aR & forg smadik uR fog fafer
ST AN fhaT ST 82

1. Survey method / Faefor fafdr
2. Case study method / HYg el fafy

3. Observation method / fteror fafdr
4. Experimental method / TANTI fafd

Correct Answer :-

« Case study method / &Y el fafd

10) Which approach believes in teaching reading based on sounds? / Gl & SATYR W US4-

UTeH H P AT e RhI0r Ay vt 32
1. Analytical / fa=eivoIT&e

2. Syllabic/ eI

3. Global / Tdierd

4. Phonic / ®IfA®

Correct Answer :-

« Phonic / BIfA®

11) According to Thompson, children can identify their own gender by the age of/ YT & SR,

T 3(UA WY F ol B TgaH s ST A R TP &
1. Five years/tﬁaaﬁ
2. Two years/apfa'ﬁf

3. Four years / dIR ¥
4. Three years / GIBEL

Correct Answer :-

e Three years / GIEK:L

12) What is the term used to describe a person’s tendency to remember positive rather than negative
experiences?/



THRIHD SFFHAT & T HHRIHD TG IE@ & forg foredt safda 1 ughxi &1 qui= 34 7 fovd ug &1
SUHT far wrar 82

1. Rehearsal effect / anarg guTd
2. Retroactive effect / tlﬁTDEITd)[ UHId
3. Lightbulb effect / dlgcded UHIT

4. Pollyanna effect / QIeiTaT Tt

Correct Answer :-
» Pollyanna effect / ISR

13) What type of memory is sometimes referred to as nondeclarative memory? /

fra TR & Wfa # Fi-FuUR sratvurere Wfa & U A W1 o 82
1. Autobiographical memory / STEART (SHCaRRnhad) F{ﬁ‘f

2. Factual memory / d[HD F:ﬂ%l

3. Short term memory/aﬂ-?ﬂ?ﬁ:[ F:ﬂ%f

4. Procedural memory / Ufhardd Fﬂﬁf

Correct Answer :-

e Procedural memory / Ui ards “\Hﬁ

14) An assessment that is carried out throughout the course is called ./

q€ AT ol X UoUsh & SR fpaTorar e, Pearan gl

1. Formative assessment / IdAIHSD H[h
2. Summative assessment / WW
3. Diagnostic assessment / WW

4. Initial assessment / YRIH® HTHdT

Correct Answer :-

o Formative assessment / IIATHD HTh I

15) Which of the following is not a form of bullying? / Frafafaa # S #1991 seu=ht &1 T &Y g1
82

1. Teasing other children / 3= CEIEDl 33 Al



2. Pushing other children / 310 Sl ol Ydehl ol
3. Mutual exchange of lunches / &9 &1 URTRSB Sadl-aga

4. Insulting other children / g@li’ Sl DT YA HRAT

Correct Answer :-
 Mutual exchange of lunches / @ D URTRS SHaell-agal

16) Which of the following clinical procedures are based in part on classical conditioning?/

fFafafEa & @ w19 W@ A= uftean safiea S w smerid @2
1. Token economy / GG _&"aﬂ:ﬂlﬁf
2. Two chair techniques / ¢ PR dDHID!

3. Transference/ RITATIRT
4. Systematic desensitization / TG ﬁﬁﬂm

Correct Answer :-

 Systematic desensitization / afeyd ﬁﬁﬂw

17) Which chromosome is responsible for determining that the child is born male? /

B 91 UREA g Fufiva & & forg Iaverdt gar @ fob a=n R ergen &2
1.'Y chromosome /'Y TURE
2. C chromosome / C TJ0RIA
3. L chromosome / L T[URIA

4. X chromosome / X T[UIJA

Correct Answer :-
* Y chromosome /Y T[UIRTA

18) If a child has no problems with any schoolwork other than reading and writing, what could he be

diagnosedwith?/mmﬁﬁqﬁmm%mmmwwaﬁﬁmqﬁ
3, a1 39 fru Fefia foran s w82

1. Learning disorder / 3f&TH fdepR
2. Communication disorder / GaR fdBR

3. Mental retardation / ATARIG Hedl



4. Intellectual disability / STfad A&

Correct Answer :-

« Learning disorder / 3O fd®R

19) A child searches for an object where they previously found it even after they know it moved to
another location. This approach is seen because of limitations relating to ./ Th T Uh Q’\‘ﬁ a¥yq
B WIS A1 2, 98T 3 Ued 39 g RIH W A WH F a1¢ oft ura &1 98 =i Q Tefra
Hrrsif & SR G@T ST B |

1. Attachment/ 3FJCTU® (3ICTHT)

2. Egocentrism/ e ( m@m)

3. Conservation/ GX&UT

4. Object permanence / 9] T

Correct Answer :-

» Object permanence / d¥] T

20) Who developed a Psychosexual theory of human development from infancy onward? / AT

A4 3 o1 & T Rigid e faefa fasar
1. Erik Erikson / Qﬁ?ﬁ W

2. Piaget/fﬁ’tﬂﬁ

3. Sigmund Freud / R e

4., Vygotsky / CIEUIRIED

Correct Answer :-

 Sigmund Freud / R s

21) The concept of intelligence is more related to: | SfS® SrayrRUm m 3fYre Tefira 3:
1. Concrete thinking / ‘Cﬁﬂﬂ"lﬂfﬁﬂ?

2. Intuitive thinking / Gg fid=

3. Rational thinking / LEZSUGACGR]

4. Emotional thinking / HTd-TH® feid

Correct Answer :-



« Rational thinking / THITd fRid=

22) Rorchach ink blot test consists of / AT W’Iﬁ CARI qﬁ&'l'UT ﬁl’H g1 'Eﬁ?IT %:
1. 10 black cards and 5 coloured cards10 / T U<l SﬁT UG

2. 10 black and 10 white cards / 10 BT 3R 10 Ihe Ul

3. 5 black and white cards and 5 coloured cards/ 5 BTl 3N ﬂ'a’)_d U SR 5 T o

4. 10 multicoloured cards 10/ EET"F[ T

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 BT 3R ﬂ'a’)_d U SR 5 T o

23) When failures are punished during childhood, it leads to WASC) B Adre & ﬁl’E CELEE:]
ERFfEafraTaTaTg, Mag_ & iR A SraT g

1. Negative reinforcement / T RIHD li"lqrﬂ"l

2. Encouragement / Eh_m:ﬂ%:f

3. Persistence / 80

4. Learned helplessness / 3feATH fagerar

Correct Answer :-

« Learned helplessness / e faa=rar

24) Maturity affects learning because it impacts -/ ufeuerdr SIfeRTH & guHTfad St % Fife ag =
W YT STerd o:

1. Motor skills/ WP aﬁ?zm

2. Readiness/ dddxdl

3. Cognitive capabilities/ IITTHD REGIE

4. Both motor and cognitive skills/ S HIeR 3R IHTHD CARI

Correct Answer :-

o Both motor and cognitive skills/ G HieR iR TIHETHSD DA

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.



Which is the 4™ condition? /

TS R Rigid & AR, TUTH ATsiiT & i 4 emazas =d €1
T, TURV AR Y A3 A 5 |

o =d FTR?

1. Situation / fRfd

2. Attraction / 3THYUT

3. Imagination / P ¢U-l

4. Motivation / U0

Correct Answer :-

« Motivation / DRI

26) Creating positive classroom culture falls under the domain of : /WEF&ITWI%TW
forafor fo &= & siaela smaT 8:

1. Social need / ITHTNIS HTTIEH ]

2. Affective need / HIATAHD TR D d]
3. Psychomotor need mﬂﬁwﬁ HARGh dl
4. Cognitive need /IRITH® ARG DT

Correct Answer :-

« Affective need / HIATHD HTARIDH T

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /

Frafafad 7 S w1 gwaar U $31 # B adl & [T U6 YPRIAS a9 WLIsd & =0 | givfd
B Jbdl 82

1. Environment problem /amﬁwﬂuﬂﬂw

o

2. Medical and Psychological Reasons/ﬁlﬁ??%ﬂ 3R H"I\Iaﬂll"lcb DRI

3. Difficulty in wriﬁng/@“@qﬁw

4. Lack of Motivation and Interest to put efforts / UHId STaH %%I'QW 3R BT BT UG

Correct Answer :-

 Lack of Motivation and Interest to put efforts / UHId SINE %ﬁmﬂw 3R BT BT UG



28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of
parenting is known as:/

$o gral-fuar el @1 saren 78 3d € afe a2 3t fdt o Fiaa W 37T ureH $A & forg
AOIgR HYd 8| 39 PR B e & e wu & S S 8:

1. Permissive Parenting / W e

2. Uninvolved Parenting / Srgafera e

3. Authoritative Parenting / 3BTRS WRfe
4. Authoritarian Parenting/ Frardl URfT

Correct Answer :-

 Authoritarian Parenting/ rard! Ui

29) Studies in human development take into consideration the period from: / HIHd faera A
Y 3 3MafY P = A 1@l 8

1. Conception to adolescence / YT fhemRIaR
2. Birth to adolescence / 57 I forIRTaRAT
3. Birth to death / S J HRUT

4. Conception to death / T Yy

Correct Answer :-

» Conception to death / Y g

30) CANCELLED

What is the full form of MBIT?/ THAI3TE ! &1 quf =q 1 32
1. Myers-Briggs test instructions / - fore oten e

2. Myers-Briggs type of indicator / TRR-fo TR Yhdd

3. Myers-Bricks type of indicator / A9 TSR ddhdd

4. Myers-Bricks test instructions / - forerd BRif] e

Correct Answer :-
« Myers-Briggs type of indicator / TRRI- o TR ddhdd

Topic:- General Sanskrit(L1GS)



Y aoTastEa: & ?
, |
Zagaﬁl
3.1:|ﬁ'|?:ﬁ-I
4.WI

Correct Answer :-

2

)
HATPN: SITT Hlex: &: ?

J1UT: |

1. =2

N alrala“\’]ﬂ

JuT |

3

4,

Correct Answer :-

ANTed 3ca8y faargarad fohA 7

3)




| ATEEY 3ed |

, HAET 3ed |

AT 3od |

3

ANGET 37od |

4

Correct Answer :-

| HEET 3d |

' g 3caey fac w9 fRA 2
l.cr I
J: |
2

3. o l
, oafd |

Correct Answer :-

5)
PRIeeEd U1d: & ?

sl |
1.



2.
o |
3.3
T

_ 37eTH |

R

Correct Answer :-

7)

AMcTTIRHA SIET duile] J2Ueh Jueh fer@d |

M Ed T T IHA |

mAfITITTA |



AMAITSANTHIH |
3.

RLIAT oA d 5 el I A LA

4,

Correct Answer :-
LM ol S o 333 H

JcddH |
3 o

HfesaTd |
4. - ~

Correct Answer :-

| IOT: PEAAASI o |
1.

ar IO FdaTAAed |
2.




gd I0M: haddARR—d |

3

ad I FIAdTAS I ed |

4.

Correct Answer :-

n=rel IO FIIdTAT AT |

Correct Answer :-

_ SITHT |

11

) C
CocddulT: o ?



1

2)
A oTdar: oﬁq:—drdd-lgbq—dstlrlbkl fora 2
e |

2.Fl'cﬁ?:rl
3.Fl‘cﬁa’|
odoqd: |
4, o)

Correct Answer :-

13)




MATGAH |

4,

Correct Answer :-

) THed |

Correct Answer :-

- Aed |

ATl |

_ feAeeaear |
, dfccdr |



Correct Answer :-

 Afgear |

16)

U™ 59 Ucad: &h: ?
g |

1

, Fcdl |

AT |

, 1% |

Correct Answer :-

7 eeur iy wEar e fa@d |
AGUSTRIGIRI T |

1

AGUSTRIGCAPITARITARITH |

2

AGUSARIGCIPI T, |
AGUARIGcAheA A ATTATH, |

3

4,

Correct Answer :-



AGUATRIGcALIATARITARITH |

THICITH: |

3.

Sy

4,

Correct Answer :-

, HYOH |

4.14?:11%44?“

Correct Answer :-



3T |
, >4 |

3eT: |
3.

oA |
4. o
Correct Answer :-
3 |
21)

CIEEIGCIE

2
_ Teardet |
, PeldTHledr: |

Correct Answer :-

thelUlchlodl: |



* 35 @fa ?
carGer |

S
A9 |

2.

_ TG |
Ger |
4,

Correct Answer :-

g |

® gsgusgen: sfa eed euad |

. Uo>Yo>TJRA:

CUdUS>URT |

U U>IRI:

. oY >dIRI: |

Correct Answer :-

oY >IRT: |

24) :
dodl: UG Hel®yd fohe ?



SERIN IS CICT L

1.

I>IAGcATHCAANGTH |

2.

TR CTaGeTH_ |

3

ARG CTaceTH_ |

4,

Correct Answer :-

I>ARIGCALHCAdIGeTH_ |

26

) % +
Y ITH 3T Ficdldzdg Hed |

3T deg e |



3T TeaA |

| 3T eI |
| 3T T |

Correct Answer :-

27) CANCELLED

areioT: Eg T ?
1. l

AT |

_ gav: |
, ARUTET |

Correct Answer :-

| JIUTET |

28) CANCELLED
a@ﬂé’r faf: _a;—anﬁ?r ?
_ GIEURIN #I |



_ FHedIUHAIN |

_ Shofehcd] TJIY |

aﬂl‘fﬁc\b TFITY |

4

Correct Answer :-

aﬂl‘fﬂc\b TJITY |

29) CANCELLED

Qiﬁ'GU'I'I'HT: gfd: &: ?

30) CANCELLED

AT>deledd] $ca¥T Hl gcufed: ?

T>alAEd AcH |

1.



Joald[ & SGH

2.

ol ed 56

3.

Us>ddlq: |

4.

Correct Answer :-

I>aola¥d $6H

Topic:- General Hindi(L2GH)

1) | WHelt TS W AR &l | Rifea Tedi f5 aso1 wan o fhard 7Y vear| v 9 gm w8l g a1y I
YT 7741 a2 e Fga- SitaeT & 9} ugrs &0 SMuwl, ueH gt | & Tpa Tl Well 747 YT, Y& & Ugis & fog W IR
AR ¥ Y A1 far 7 area A fr Arrasr 9u & & nad ATt # U el ITeie WY, ¥ WEBR U1 B
3a: TRT AT foRamaT T o1, 9 & B8 &t 9P Pt Ul 9R W B g1 AT e gof & § YRl gaiml 39 a1 =
D! fUarelt STell UPpsH g gUH o T ABATY B Th GBI arall 3FR T IREd [0 & Pegs o fUaman
3R W W gIY T@HT dia- @mmﬁ%mﬁﬁmﬁ%ﬁgﬁﬁmﬁmﬁﬁ,ﬁaﬁﬁimﬁa&hﬁl”
I 3mftafe ot a1 W7 Sil-dts ufvew o iR, Y & AY sy Fav M 3R ufed & &Y & v 3man| wf 7 iy
YD T T fera, fiarsi g 38, $© aid Jgt |

ST TR B UG 1 U T UY HT IR qa13d:

-t A aue & ford g W AR &1 IR fUaman?
1. IHATY

2. XMW I grad

3. AY

4. GeTY

Correct Answer :-

. AHTY

2) AT T@el UeTs W Wik il | Rifaa el fop asw Han @) fpara 781 ugdn| urd $/ g FE e WY TR
YT T <t feT g sftas & adt uers &1 e, ueA S & Tpa et WSl 74T T, IRE B Uels & R R
AT @ ¢ 3| far 781 argd A fr Aras 39 A § ad Wt § UsH) Me-TTee WY, §¥ PR T80 B
3: TRT AT foRaman T o1, 9 & H&MT &t 9P Pt Ul 9% IR B gHbT AT IR oot & § Ul gaiml 39 a1 =
&1 st Srelt uPsHR g9 A @ M| AU B U T dTell 3R BT IRAd [Hg! &b Pees A faamn
3R W W Y T@H? S «aqrael H) 7P ureassy o1 fard off 369 ) oo 3 v, mﬁﬁmﬁa&ﬁm



IADT ATATale AT a1 BT il-dts uivyd f TR, 1Y & &Y 3/ AeR 3 3R ufad | ot 7 B 3mar| 97 7 31,
YRR T 1 fora, farsht gegperd )@, $ 9id 81|

ST TR B UghR 1 UD T UY P IR Id13:
- AP B UgTs IR IR 5T Ham a@ gg a2
1. A dh

2. dR dd

3. Gl dP

4. Udh doh

Correct Answer :-

. QA dD

3) Wi el Ugrs W Wk &t | fifaa Tedl {6 de1 wen @Y fard 781 ugdn| U 9 g m w8l e A1Y TAHT
HIT 7T Y2 U Hed- Sita H 981 ugrs &1 e, uga &1 1 H e el Uil 7T AT, YRS 1 g b R w
e ¥ T | far 98 ared A fr Arausr 39 # § Tad W A USHR Meh-Tes WY, §¥ PR T B
31l ART AT FRamaT Tar AT, i § H&1 &) 9% B UeTs TR W R gHT ATl TR gof & & Rl garm| 39 a7 =
B! Farsh el TrsHR g9 TIM A TT1 AGATY B TP gHE arell 3R $T IRTd g F s § fUamn
3R R W Y TEHR SId- “qrael F1 fob ureushy ot frard WY sa9 € e | ueh), af &1 Riar frersia
T Jm=ftate o1 a1 A77 oft-dis ufeyw 6 d, D & 3% 3 Aa¥ M 3R uTga & ot & B 3mam| |y 7 31y,
YIPH Ta @ foran, farsht grperd 38, $ 9ia "8

ITYe TRIR F TSP 1 IR 7T UY BT IR 9d133:
TH- B $i ffd d w1 w32

1. Ugdll

2. AT

3. GERT
4, RERT

Correct Answer :-

4) AT Tl Ugrs W Wk 3| fifaa et i aeor wen 3t frard 8 uear ur 1 gvm w5l ge Ay THeR
HIT 7T Y2 U S d- Sita # 98t ugrs &1 e, uga &1 1 H e el Uil 7T AT, YRS 1 e b R |
e 3 T | far 98 ared A fr Arawsr 39 # § Tad Wt § uSHR Meh-Teis WRy, §¥ PR T B
31T ART AT fFRamaT 4T AT, i § BT &) 9% B UeTs TR W R gHT ATl T oot § & Rl garm| 39 3= =
B! A el TrsHR g3 TIM A TT1 AGATY B TP ghE arell 3R HT IRTd E & pogs § farn
3R W W Y TE@H TA- “TRIGT B & ureassy ot fhard ot sa9 8 w1 9 ueh, |t &1 far frereia»

1 JT=ftate o1 a1 A77 oft-dis ufeyw 5 i, Y & A 3= Fav 3m 3R ufgd § af & W Smam| |y 7 3Ry
YRHR T @ fora, fiarsh grgperd 38, $© 9ia J8t |



IUYF TR P UgHR A1 I 7Y U PT IR dd133:
- 3R’ P gaigar =8t 8-
1. qifeH

2. BT
3. JHES

4. h1UT

Correct Answer :-

5) Ui el UeTs W Wik 3| Rifa el for asor wen @1 fhard 7€) ugar! U $& gRm FEl Ga A1y I
YT T <t freT e sftas & a8t uers &1 e, ue |1 & Tpa et WSl 747 T, IRE @+ Uels & R IR R
e 3 T | far 98t ared A fF Arausr 39 § § ad Wt A uSHR Mel-Teis Wy, §¥ PR T B
3a: TRT AT foRamaT T o1, 59 & H&MT &t 9P Pt Ul 4R W B gHbT AT iR oot & § Ul gaiml 39 far =
&1 farsht Srelt uPsPR g9 A @ M1 AH1Y B T T dTell 3R BT IRAA [Hg! b Peos A faamrn
3R W W Y TEHR S «aqrael F) 7 ureasny o1 frard ot 3a9 8 sa= @ e, |t &Y far frersiay»

BT JAT=ftate o1 a1 AR7 oft-dis ufeyw 6 i, 9 & A% 3 Fav oM R ufad § af & W ST |y 7 3Ry
YRHR T T fora, fiarsh g 38, $© aid Jgt

SR T B UGH -1 I 7T UY BT SR qa134:
- STl BT qafgardt 82

1. A

2.3¢

3. ST AP ST

4. 3T

Correct Answer :-

6) I el Ugrs W Wk &t | feifaa el {6 dre1 wen &Y fard 781 ugdn| U ) g m w8l g ATY TAHT
HIT 7T Y2 U Hgd- Sita H 981 grs &1 e, uga &1 1 H e el Uil 7T AT, YRS 1 g b M w W
e ¥ T | far 98 ared A fr Arausr 39§ § ad W A USHR Med-Tes Wy, §¥ PR TS H
31 ART AT FRamaT Tar AT, 5 § BT &) 9% B UeTs TR W R gHT ATl TR gof & & Rl gam| 39 a7 =
B! Farsh el TrsHR g9 TIM A TT1 @G B TP ghTE arell 3R $T IRGd g F Fogs § famn
3R R W Y TGHR dId- “qrael F1 fob ureussy ot frard WY sa9 € e | ueh), At &1 Riar frersia
T Jr=ftate o1 a1 A77 oft-dis ufeyw 6 @R, Y & A% 3 Ha¥ M 3R uTga & ot & B 3mam| |7 7 31y,
YIH Ta @ foran, farsht grperd ¥, $ 9ia "8

ST TR P UGHR -1 I 7T UY HT SR 133
UH- P $HT U 82



1. fag=it
2. d&H
3. dgd
4. GRS

Correct Answer :-

7) Ui el ueTs W Wik 0| Rifa el for asor wen 91 frard 7€) ugar! U $& g FEl Ge A1y I
YT T <t freT e oftas & a8t uers &1 e, ue |1 & Tpa et WSl 747 YT, IR B Uels & R R
e ¥ T | far 98 ared A f Arausr 39 § § aa W A USHR Mel-Teis Wy, §¥ PR T B
3a: TRT AT foRamaT T o1, 59 & H&MT &t 9P Pt Ul 4R W B gHbT AT iR oot & § Ul gaiml 39 far =
&1 farsht Srelt uesPR g9 THM @ M1 AH1Y B T DT dTell 3R BT IRAA [Hg! b Peos A faamrn
3R W W Y TEH? S «aqrael B 7 ureasry o1 frard ot 3a9 8 sa= @ e, |t &Y far frersiay»
BT JAT=Atate o1 a1 A7 oft-dis ufeyw 6 i, 9 o 3% 3 Fav oM R ufad § af & W ST |7 7 3Ry
YRHR T T fora, fiarsh g 38, $© aid Jgt

SR T B UGH -1 IR 7T UY BT SR qa133:
W=H- AT BT ygiaardt 2eg g1 2

1. tar

2.8%

3.9

4. 09

Correct Answer :-

8) Ui wbelt ugrs W Wik il | fRifaa gl fob aswt wen 31 frars 78t uearn ura FA M FEf g WY TB
HIT 7T Y2 U Hgd- Sita H 981 grs &1 e, uga &1 1 H e el Uil 7T AT, YRS 1 g b M w W
AT ¥ T | far 98 ared A fr Arausr 39 § § Tad W § USHR Med-Tes WY, §¥ PR TS B
31 ART AT FRamaT Tar AT, 5 § B8 &) 9% B UeTs TR W R gHT ATl TR gof & & Rl garm| 39 a7 =
B! Farsh el TrsHR g9 TIM A TT1 @G B TP gHE arell 3R $T IRTd g F pogs § fUarn
3R R W Y TGHR dId- “qrael F1 fob ureushy ot frard WY sa9 € e | ueh), At &1 Riar frersi
T Jr=ftate o1 a1 A77 oft-dis ufeyw 6 @R, Y & A% 3 Ha¥ M 3R uTga & ot & B 3mam| |7 7 31y,
YIH 7o @ foran, farsht grperd 78, $ 9ia "8

SR T B UgH -1 IR 7Y UY BT SR qa133:
UH- ‘Pees’ T T aread 82

1. peglol 4

2. giS ¥



3. gt o1 U o o 9 dt ot §
4. DI Y

Correct Answer :-

. ot o1 v o o = et @

9) Wi Tpell TeTE W iRk &eit| Rifera wedi i e Han #} fhar 7€) vean urd $2 M $E G WY TR
YT 7741 a2 e Fga- Sitae1 & 98} ugrs &0 SMuwhl, ue+ gt | & T Tl Well 741 YT, Y & Ugis & fog W IR
AR ¥ Y A1 far 7 ared A fr Arrasr 3u & & ad ATt # U H) el ITee WY, ¥ WEBR U1 B
3d: TRT AT foRamaT T o1, 9 & B8 &t 9P Pt Ul 9R W B g1 AT AR gof & § YRl gaiml 39 a1 =
B! fUarelt STl UPsH g gUH o T ABATY B Th G arall 3FR T IREd [0 & Pegs o fUaman
3R W W Y T@HT aia- ‘fammwﬁimaﬁﬁmﬁmsaﬁﬁwﬂﬁmﬁﬁ,ﬁaﬁﬁmﬁashﬁl”
I 3m=ftafe ot a1 A7 Sil-dts ufvew & iR, Y & WY sy Fav M 3R i & &Y & v 3man| |i 7 Mg
YD T T fera, fiarsi g 38, $© aid Jgt |

ST TR B UG 1 U T UY T IR qa13d:
- | Bt 3ATR{H1 § I a1

1. SATART A G191

2. SWRIad it

3. Ugls U HHGIR -1 81 9™

4. 1Y A § T

Correct Answer :-

10) AT @l Ugg R WR &l | Rifaa et % dsa1 Fan o) frard 8 yean ura $/ gm wEl Gg Iy
FABI T 74T 12 Frar $ga- siia & agt ugrg &1 emuft, uga §f| # Wpd A8l WSl 1 T, IRE P UG &
I R R Aex v Y A1 e 1 ared A {5 Araws 39 ¥ # Tad Wdl ¥ usd el-Tard 3, ¥ SR
UGV Hés 3a: ART AT Framan 71 o1, 59 & F&1 Gl 9% P UgTs R UR R b1 47| R oot § H YRt gam| 39
a1 = 1 fyarsh Seft ywress: g3 9N & T AGATY B TP gHTE aTal 3R BT IRGd A8 & Pogs A
fUemar 3R W W FTY T@HR IA- “araer B {5 ureusmH @t frard Wt sa9 & e A v, |t ot e
freT3iit 1> 3T sm=ftate o1 a1 #R7 oft-dis ufvyw fr FieR, 913 & O¥ o/ Fav 3 3R uTad ¥ af # W 3ma|
[T A TG WRH T 1 feram, farsht geg B, $ aid 78t |

ST TR B UgHR 1 UD Y UY P IR qa13:
wH- A1 {5 d a1 W Sif¥e &R ¢t <t

1. PHW

2. TG A WR

3. Ugls |

4. MW



Correct Answer :-

. IR W

11) | Tt T W SR df1 Rifad et f6 asa1 Han & fhare T8 ygan g $4 g $E e Y
FABI T 74T 12 Frar Hgd- siia & a8t ugrg &0 emuift, uga gl § Ipd A8l WS TT T, IRE Pt UG &
oG R OR AeR ¥ Y A1 e e wred A o Arewe 3%  § 7o St § ug R M-l Wiy, ¥ WHR
TG H= 37el: TRT -ATH FoRATAT 7T T, Sa H H&T 31 % P UGS W W HR b1 AT TR oot A & uell g1 39
&1 = @1 A Selt ywessr g3 9™ & T AGATY B TP gHTE Tl 3R BT IREd A3 & Pogs |
fUamr SR W W 1Y IWHY - “qrael I [P ureusy Fit fhard W gav & @ @ v, uf Y fian
fyeTsiit1» 3T smeftate o1 a1 ARy oft-dis ufveyw fr iR, Y & AY o/ Fav 3 3R uTaa # ot 7 W 3mam|
AT A Y WA T 1 feram, fareht gegpea ), $ aid A8t |

ST TR Y Ugh -1 IR 7T U T SR Ia133:
URH- a® A {5 wem § uyH W= Ut faan?
1. gigat

2. GO
3. Ugdl
4. dt

Correct Answer :-

12) i Telt U W SR 1 Rifad et f6 aso1 Han &Y frare T8 ygan g $4 gm $E e Y
FABI T 4T 12 Frar Hga- sita & adt ugrg &1 emuift, uga g § Ipd A8l WS TT T, IRE Pt UG &
oG TR OR AeR ¥ Y A1 e e e A b Arewe 3%  § e St § ugHR Me-THie Wiy, ¥ WHR
UG H¥= 37l: FRT -ATH fRATAT 7T AT, SIS H H&MT g1 P P UGTS WX TR B b1 AUT| AN gof H § Ul §iT 1 39
&1 = @1 farsh Selt ywrss: g3 9™ & T AGATY B TP gHTE aTall 3R BT IREd A8 & Pogs |
e iR W W Y IWHY - “qrael I 5 ureusy Fit fhard W gav & @ A uen, uf i fian
RyeTsiit1» 3T seftate ot a1 ARy oft-dis ufvyw fr iR, Y & BY o Hav 3 3R uTaa # ot & W 3|
AT 7 SARF U T 7 fora, frarsit gegpema 78, $0 aia g1

ST T B UgHR 1 UD T U P IR qa133:
- T 7 e 3 71 Had fgars?

1. GHLT BRI I6 Bl

2. Uit foamera 9 &1

3. BT T Ugdl R U A Bt

4. forcTall oY &I A UgA &l

Correct Answer :-

. foberel &1 & 4 U B



13) i Tt T W SR 31 Rifad el f6 aso1 Han &Y frare 78 ygan g $4 g $E e Y
FABI T 74T 12 Frar Hga- siia & adt ugrg &1 emuft, uga g § Ipd A8l WSl TT AT, IRE P UG &
oG R OR AeR ¥ Y A1 firern e e A b Arewe 3%  § 7o St § ugHR M-S Wi, ¥ WHR
YGUI H¥= 37l: FRT -ATH fRATAT 7T AT, 59 H H&MT g1 P P UGTS U TR B b1 AUTI AR gof A § Ul §aT | 39
&1 = 1 farsh Seft T g3 9N & T AGATY B TP gHTE aTall 3R BT IREd A8 & Pogs |
e iR W W Y IGHY - “arael I 5 ureusy Fit fFard W gav & @ A e, uf ) fian
RyeTaiit» 3T seftate ot a1 ARy oft-dis ufveyw fr iR, Y & BY ord Hav 3 3R uTaa # ot & W 3|
AT 7 SARF U T 7 foran, frarsit gegpema 78, $0 aid g1

ST T B UgHR - UD T U P IR qa133:
5<H- fUreT GRgperd T2, $© el 9, o e 2
1. R A R Y|

2. YH T8I 3 3|

3. HET T T R TR 3|

4. YgTS -Tg) Hd U1

Correct Answer :-

. DT H UYH W d™ Y|

14) AT @l Ugg R AR &l | Rifaa et % dsa1 Fanm @) frard 8 vean ura $/ gm wEl Gg Iy
FABI T 74T 412 Frar $ga- siia= & agt ugrg &1 emuft, uga §f| # Wpd A8l WSl 1 T, IRE P UG &
I TR R aex v Y A1 e 1 ared A {5 w39 ¥ # Tad Wdl ¥ usd) Iel-Tard 3R, ¥ SR
UGV Hés 3 ART AT Framan 71 o1, 59 & F&1 Gl aF P Ul R UR R b1 4TI R oot & F YRt gam| 39
a1 = 1 fyarsh Seft ywress: g3 9N & T AGATY B TH gHTE aTalT 3R BT IRad A8t & Pogs A
fUemar 3R W W FTY T@HR IA- “araer B {5 ureusmH @1 frard Wt sa9 & e A v, |t ot e
freT3iit 1> 3T sm=ftate o1 a1 AR7 oft-dis ufivyw f FieR, 913 & O¥ o/ Fav 3 3R uTad ¥ af # W 3ma|
[T A TG WRH T 1 feram, farsht geg B, $ aid 78t |

ST TR B UgHR 1 UD Y UY HT IR qa13:
WH- 3R’ X76g | B 1 61 82

1. HIddHd

2. HfFIdTdd

3. gHgarash
4. STfdarad

Correct Answer :-



T TPl Ugls W &R gol | Fifaa Ygdl b o1 Ham o1 farard A8t ugar| U $A g Sl Ga ATY I7DHR URT
a1 Y2 firar wgd- e & 98t uers Sy, ug &Y 1 & T Tt WS TN T, IRE B Uers & I W W
e 3@ ¢ | far 8 ared A fr Arawsr 39 # § Tad W A usHR Meh-Tes WRy, §¥ PR TS HI
3 AT AT FoRamaT 4T AT, 919 ® BET G 9 B USTs 9% UR R BT AT R gof A H uRedl gonm| 39 fe
B fUarelt STl UPsHR g gUH o Y| ABTY B Th GBI arll 3FR T IREd [0E & Pegs # fUaman
3R W W Y T@H? T “TrIeT H & ureassy o1 fard off sa9 81 o 3 e, maﬁﬁmﬁm@hﬁl
ST Jm=ftate o1 a1 AR7 oft-dis ufeyw 6 v, D & A 3D v 3 3k ufed A &t & W Smam| |y 7 3Ry
YRPH Tal @ fera, farsht grperd ¥, $© 9 J61 |

I TR B Ugh A 3T T uyf & SR 9a1sT
- YR BT HF g2

1. faerg

2. 9107

3. U SR XaaR &1 °id

4, RRTd

Correct Answer :-

. T 3R YahR BT O

16) CANCELLED

Pt Al A @R daP
HEHT $1 BT giardl,
forad forra 39 91 fopvol
TS} ) < Ioredt wreh !
PPN TAR

e e *RR ® e grers,
AT Y T TR P g
Y4 &1 R fAva i was |

ST TR FI UgHR -1 U T Y HT 3T Ia159:
W= - I 1 fohon | a6t ddy g o fram &1 2
1.gad
2.9d ¥
3. 0T 9
4. 499

Correct Answer :-

. Wad



eft Wl A R daD
HEHA B HIHd givare,
forudt o 3fa 1 fp=ol
TS} Y I Sereht wett !
freidRPVTAR

fod gfa SR ? TE1 91T,
TS Y W TR P gl
Y &1 R e e waw |

IT U= $1 UgHR -9 D T Y FT 3T 9159
WH- Il & fadm ghm?

1. BRI

2.3

3. 91

4, YD

Correct Answer :-

18) Well Wi # gr aa®
HEHd ] HIH giaTer,
fRradY forers 3fa 1 fpwor
qrd) P Y Iorelt wrelt !
A PR TR

e afta 3R 8 weT1 31aw,
A Y T TR FHT gl
Y4 &1 R e i was |

ST TSN $ UgHR 1 IR T UY BT IR TA153:
WRH- <Y BT qgigardt T8l 82

1. TGRT

2. el

3. 4@
4. gt

Correct Answer :-

19) et Wal A gr daP
TEHd B HHAd giRare,
fRradY foraR fa &Y fs=ol



Tiel DI At ISl SITet !
P PeRRTAR

e afta 3R 8 weT1 31aw,
TS Y q6 TR FHT gl
Y4 &1 R fAva i wae |

ST TN F UgHR 1 YD T UY BT IR TA153:
WA- @ BT FHATS 2Teg A8 72

1. {Ig

2. Hel

3. gfddr

4. fw

Correct Answer :-

20) el Tdl W gr dAB
G B HIHd givare,
forad fora <fa &1 fapwol
TS Y A Ioredt Sred !
PRI R

fod afa SR 2 a1 3o,
TATH Y T4 W FHT g3
Y4 &1 R e i was |

ST UL F UgHR 1 IR T GY BT IR TA139:
WH- A4 BT R & a1 32

1. fafgan

2. TTH A B gt

3. dlqd

4, T

Correct Answer :-

. THIDIE T

21) el Tdl A gR daH
G B HIHd givare,
foradY fore 3 1t faeor
TS} Y I IeTett wrett !
P PRNTR

e e TR ® e 9reres,



TS Y T TR FDT g
Y4 o1 for e Hia wae |

ST UL P UgHR 1 IR T GY BT IR TA139:
- @I Vg A= A A w32

22) Ut Wl & gr aa®
HEHA $1 AT giardl,
foradt fora <fa &1 fopwol
TS} P} <t Ioredt wreh !
PR TR

e gfta IRR § 81 5o,
TATH T4 W FHT g
Y4 &1 R e i was |

ST YIS DI Ugh A1 I T Y BT SR qaTga:
- RgIe &1 3 82
1. e

2. Pl

3. T
4. TR

Correct Answer :-

23) Wl Wl | gr aa®
AEHT $1 SHd giardl,
forad forar 3fa 1 fovol
TS} P} <t Ioredt wreh !
freiPgveRadA R

fe<t gfta RR ? 81 oo,
AT Y T TR FHT g
Y4 &1 R fAde id was |



SUYF U D1 UGHR 1 I MY UY BT IR Tad134:

- TR Ufed § ®fa 7 forg ufva=r &1 qof= frar @2
1. 99-3Ud- &l

2. SWRIad It

3. Tild B Upidl &1

4. TG Sia &l

Correct Answer :-

. T &I Upfd B

24) el Tdl W gR dAB
G B HIHd givare,
foradt fora <fa &1 fopwol
TS} Y I IeTett wrett !
P PR TR

e e TR ® e grere,
AT Y T TR FHT g
Y &1 iR e e was |

ST IR DI TGP -1 T T UY PT IR 189

W=H- U UfaTal § B forg Txg o) e A glar @ 2
1. IWRIad gt

2. Agdgldl b

3. T D1 Grex Xt

4. Hl-hell 9 el Ul 1 srfear

Correct Answer :-

. gdgIdl By

25) Ut Wl & gr aa®
@A B A givare,
foradY fora 3fa 1t fawol
TS} Y I Iereht wrett !
P PR TA W

o efta ¥RR ? 1 3o,
TATH T4 W FHT g
Y &1 iR e e was |

IUYe Ui 61 Ugh? ) I T WY T IR Ja133:
U- SR &1 rafgarh 98l 82



1. g
2. 3dd

3. @
4. QDR

Correct Answer :-

26) el Tdl d gr daB
HAEHT $1 BT giardl,
foradY fora 3fa 1 f=or
TS} P} <t Ioredt wreh !
PR TR

o el ¥R & e o,
TATH ¥ T4 W FHT g
Y4 &1 R fAva i was |

ST U P UgHR 1 IR Y Y HT IR T3
- HIH W g P NTHA W TRY 3R Ts-uien & gfieareh fwrs ¢ w8t 32
1. §9d

2. 78
3. HIGI
4. BIdDd

Correct Answer :-

27) Ul Wl & gR aaq®
HAEHT $1 AT giardl,
foradt fora <fa &1 fopvol
TS} P} < Ioredt wreh !
PR TR

e gfta IRR § 81 51,
TATH T4 W FHT g
Y4 &1 R e i was |

IUYe Ui &1 Ugh? ) I T U T IR Ja133:
TH- faTel & g g 99 I Ufd § 1 91 SrepR 82
1. XY

2. YHD



4. Uch

Correct Answer :-

28) et Wall A gr da®
HEHA S HIHT giaTal,
forad fora <fa 1 fapwol
T P A IeTedt Sred |
P PR TR

fod gfa SR 2 e 3o,
TATHE Y T4 W FHT g3
Y &1 fiR e e waw |

ST UL $ UgHR 1 IR T UY BT IR TA139:
- R sa SR & & @19 a1 SR 82
1. 30M1

2. YT
3. TUH

4, Ik

Correct Answer :-

29) el Tl W gr daH
@A B HIHd givare,
foradY o 3fa &t fp=ol
TS Y A Ioredt Sred !
PRI R

fea e oRR & e orers,
TS Y d TR PP g
Y4 &1 R e i was |

ST UL F UgHR 1 IR T GY BT IR TA139:
WH- ATt B AT Iorelt AT & DI AT AP 82
1. gHD

2. 3UHI

3. %0dh

4. A&



Correct Answer :-

30) el @l § @R aad

HEHS B B givare,

foradt fora 3fa ) fopwoy

qrdr B W Iereht Sredt 1

P FRVTAR

foe aRa v ? v ores,

A Y T W FPT g

Y4 o1 for e Ha was |

ITa U=IIRT ) Ughx 1d IR T UY HT IR ad134:

- ‘iea ga v 8 81 919w,
A Y T W FHT 3T

T UfeRT # SI9 A1 PR @ ?
1. gqD

2. 3T
3. 0B

4, I&T

Correct Answer :-

Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an ./
3c(a+ b) TH 2l
1. algebraic equation / STSRTOCY FHIHRUT

2. monomial polynomial /WW
3. binomial polynomial / fgUucid sgug
4. trinomial polynomial / AUc dgug

Correct Answer :-

+ binomial polynomial / fguda 9gug

2) If the perpendicular distance of a point P from the x-axis is 8 units



and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
gfE x-31&1 A T fig P B dqad g 8 P18 ©

3R T BT UG x-31& Pt BUTd REM R fR@ g, AfdgpaAE:

1. Ordinate = 8 / @I = 8

2. Abscissa= 8 or -8 / o = 8 3YdT -8

3. Abscissa = 8 / Yol =8

4. Abscissa = -8 / Yol = -8

Correct Answer :-
« Ordinate = 8 / ®Ife =8

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is:
/

afS TP IS T P T a5 TEHT A 12320 a7 A9 qUT $H! AMUR Brean 56 0 g, o swant
FT1S 8:

1. 42 cm /42 QHt

2.24 cm /24 94

3. 40cm / 40 QH

4,21 cm /21 99

Correct Answer :-

e 42 cm /42 9H

4) What is predecessor of natural number 1? /
T d BT 1 BT Ydad! ST 34T 82

1.2

2.1

3. no predecessor / EIE] WW TE g

4.0

Correct Answer :-

» o predecessor / CIES WWT Tl 8



5) Which one of the following is not an objective of scholastic assessment? /
fFrafafaa A ¥ Si9-a1 fagHl & qeuied #1 Ue 3534 81 82

1. Knowledge / -

2. Analysis / ICEGLIYI

3. Comprehension / JHYH

4. Attitude / FFIGRI

Correct Answer :-

« Attitude / TIGRI

6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TS JH TAYS &1 URUTT 45 QY 31 39 TH Yol B da1s fHa-l 82

1. 9 cm/9GHl

2. 9.5 cm/9.5 94t

3. 7.5 cm/7.5 94t

4. 15cm/ 153w

Correct Answer :-

e 9cm/oTH
7) p*+qi-z°
If p=—2, q=3, and z= 2, then find the value of P - !
- +pa—pqz
: - J _
I p=-2,¢=3,70 =2 £, A & A AT W
> +pq-pqz
9
1 5
31
2. 2
1
3 5
4. 19

Correct Answer :-



T P AP ETIE T g e e
1. (x-3)
2. (x-2)
3.0
4. (x-4)

Correct Answer :-

e 0
9)
The diagonals of a rectangle PQES intersect at the point O_If
£P0OQ = 130° then £ORS =7 |
3 PQRS & %ol teheay &I fdg O W ufd=sfd &
&1 afg £LPOQ = 130°, 9 L0RS =?
S 0 f__,f’“"R
e 1
P Q
30e
1.
250
2.
130°
3.
50@
4.



The area of sector of a circle of radius 10 cm and of angle 60° is ol

10 F3f =21 gor 60° FIUT aTd U decd & THod@s &1 &b 2l

157 157
%sq cm / ifﬁfr aH

1.

157 157

ai sqcm;‘ria—c‘fm
2.

167 167

= sqcmfr—a’cﬁ'm
3.

4. 157 sqem/ 157 i et

Correct Answer :-
157 157
Ei sqcm [/ Eia?’r o

11)
Given two right angled triangles PQE and DEF _such that 2 (=30,

£D=30 and QP=DE write the correspondence if triangles are congruent. /

ar gAdoT et PQRIIRDEFSH waR v 1w §7F 2Q=30.4D =30 3R QP=DE
ol afe Ferer wdiowd §. ar derdar #d &1

, ARQPAFED

, AQPR=ADFE

;. APQR=ADEF

, APQREAEDF

Correct Answer :-
APQEZAEDF



APQFE.is an isosceles triangle with PQ=PF_. Altitudes EF and QG are drawn to the sides P() and
PR from vertices R and (Q If one altitude RF is 3 cm and the base QR is 5cm then GE= A

APQR Us THefaarg fHeyet ¢ e PQ=PR Y| fideial RF 3R QG &I o Rwd Q&
a1 PQ 3R PR A% dien orar §1 afg v offeid RF3 & § 3 3mar QRS @&t
g.ar GR=__ |

1.4 cm/4 94l

2.3 cm /3 JHt

3.5 cm/ 53

4.6 cm/ 6 I

Correct Answer :-

e 4cm/ 499

13)
AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the
area of AABCis . [

AABC &I U= AIfETaT ADE dar AD&T Aegfag ME1 I ABMD T &30 2.5
g2 8.9 AABC &7 &5%el 2l
1. 20 cm? / 20 2
2. 10 cm? / 10 2
3.5 cm? /5 QAP
4.25 cm? /25 QP

Correct Answer :-

« 10 cm? /10 TH2

14)

R .1 s N . - .
Anu’s ageis ;d- of her mother’s age If Anu’s age is 12 then mother’s ageis /

3] T Y IFHT AT T G FT 1/3 §1 A 355 1 317 12 a9 . & A 1 37 &

1. 36



2.24
3.35

4. 30

Correct Answer :-

e 36

15)
The length of two trains T1 and T2 are 620 m and 480 m respectivelv. The length of the freight
train T3 is twice the sum of T1 & T2. Find the time required bv T3 to cover a post on the

1/

distance

platform if it has a speed of 20 m/s. [ime =
speed

ar &7 T1 va T2 &Y @as &H 620 Hex 3R 480 Hex &1 Arcensr T3 6 dan
¢ T1 wd T2 & a1 & [T &) G 5@t arfd 20 Hex@as &, a1 T3 garT s
TOCHhIH T Udh O & 9K & & (ol Haedd GHT Ad 17

1. 3 minute 10 seconds / 3 fFFe 10 ¥
2. 1 minute 50 seconds / 1 fiFe 50 Ab S
3. 2 minutes 10 seconds / 2 ffFe 10 AH s

4. 2 minutes 40 seconds / 2 fiFe 40 ¥Hg

Correct Answer :-

« 1 minute 50 seconds / 1 e 50 Ybg

16)
Ix+y+2 _ 3x-y-1 +tiy+1
If 2 ; = x: % : . then find the value of x and v.
x+y+2 _ 3x-y-1 +3y+1 - :
gfg T2 =22 =2 B A xUd y & A AE
-13
X=-2,. v=—
: 5
1.
7
X=—-,v=-3
5
2.
1
K:'E:}':_
3.



Correct Answer :-

17)

If &z and B are the zeroes of the polynomial x% — 5x + k,wherea— f= 1,thenk=__. /
afe a Td g GgUE x? —5x +k & Yedk £.oA6l a—f= 1§, Ahk=__

1. —f
2.2
3.3

4.6

Correct Answer :-



Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure 2 | Figure 3 Figure 4
Fully-filled 5 8 6 4
squares

Half-filled 7 _ 2 5
squares

More than half 4 4 _ g

filled squares

Less than half 9 7 _ _

filled square

Find the figure with larger area. /

o arfeler & afola ow ofic W IR 3es Bv v §

had fohar T | HihsIl | HIHRsSI2 | HIFHs13 HFsT4
AE]

o7 w7 T | 8 6 4

aat

3TEr Y &t 7 _ 2 5
e F ifEes | 4 4 _ 8
Gl

W F FF R | D 7 _ -

aat

Had g5 & &I 3NhsT AT i)

1. Figure 4 / 3fih Sl 4
2. Figure 2 / 3(1h 3T 2
3. Figure 1/ 33T 1

4. Figure 3 / 31131 3

Correct Answer :-

« Figure 4/ 3fih sl 4

2 _ 4 3 _ 2
19) Find the value of 'K, if ¥~ ~ 2% T 1 js a factor of 2%~ T %" —14x"+3k+6

4 3 _ 2z 2z _ .

1. -1

2.2

3.1



4.3

Correct Answer :-

20) Find the missing number in the following pattern. /

fFrafafad te & qua e gra #31

3.7

4.6

Correct Answer :-

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 & Ydadl 3R 9871 & WRad! & dIT 3R BT 19 HH |

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-
o 88828

22) Find the GCD of 10, 20, and 30. /
10, 20 30 30 T HEWH HAHTSP (GCD) T B3|
1.10
2. 60
3.15

4. 30



Correct Answer :-
e 10

23) A scaled down teaching encounter is known as ./

3qgofiaT (Whes s18) fRreor Jad P U § A= ST gl
1. Macro teaching / Q_E"HQT&WT (ﬁﬁ S

2. Micro teaching / J&H fRrefor (II'IB_Qbe _Cpﬁ%l'r[)
3. Mastery teaching / yaror fRreor (II'IE:\[ I )

4. Model teaching / ATSa ey (Ilvg(_‘l cifei)

Correct Answer :-

 Micro teaching / J&H fRraror (wrgen! difim)

24) Postulates are assumptions specific to ./
Wiy, faRre @ &1 s@urume &1

1. trigonometry / IECAIIEIG]

2. algebra / CISUING]

3. geometry / STt

4, arithmetic / 3BT

Correct Answer :-

» geometry / STt

25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./
TAENGH ST AT SR’ & GRT 3RF SHOrd R fooar rar &t ut)
1. Al Kharkli / 3{¢ @Rt

2. Abil-Wefer / 3fId-aHR

3. Omar Khayyam / 3HR G&TH

4. Al-Khwarizmi / SA-TATNGH

Correct Answer :-

e Al-Khwarizmi / 3A-TATNGH



26) is the ability for a child of two years who is able to distinguish between more and
less things when he/she is fit to consume food. /

3 T & = P GHAT & S HISH BT SUHNT H1 & forw fhe g w®
3 3R &0 el & AT 3iaw H § FaH R

1. Understanding of notations / {-i?bcH Gl JHIA

2. Recognition of numbers / G B Ugdl-

3. Recognition of notations / VH'ah(‘l"l Gl UedId

4. Innate number sense /WQT@TE}[‘U

Correct Answer :-

¢ |nnate number sense /WQ’@T@[‘H

27) Rhombus is formed by joining the midpoints of the adjacent sidesofa__ ./
_ & 3mad yonnsh & weafdgett &t e ¥ anagys s9ar 81

1. Rectangle / 3Id

2. Parallelogram / FHMIR aqyst

3. Rhombus / l:l'rﬁlﬂﬂ\_ﬂ

4, Kite / 9l

Correct Answer :-
e Rectangle / 3{dd
28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /

7 S| BT HILH T9I 45 fHUT 21 378 T 6 &1 9w 53 fbu, 45 fum, 40 fBm, 37 fhum, 42 fum aur 50
fur 21 79 TSP BT a9 Fd B

1. 42 kg /42 fun
2. 48 kg / 48 fobuT
3. 45 kg / 45 foouT

4. 50 kg / 50 fobum

Correct Answer :-

o« 48 kg /48T



29) the degree of the polynomial (2x —8) + (8 — 2x): /

W(Ex—8}+ (8—2x) 1 a7a 2

1.1

30) The action verb for giving examples of different types of sets is i
fafia yoR & Tyl & Ieexvr &1 & e fharers foran 2l
1. classifying / FffeRur

2. comparing / eIl
3. differentiating / faveq

4. listing / GBI

Correct Answer :-

« classifying / Fiffeor

2x + 5y =10

31) The graph of the linear equation is a line which meets the x-axis at the point

-
@@ Tftd0T 2x + 5y = 10 FTIE TH @1 @ Wt g W x-31&1 A freran 31
1. (0,2)
2. (1,2)
3. (5,0)
4. (2,5)

Correct Answer :-



32)
Which property is used to equate: /

Tiipd Fe & e {5 qurent o1 v fBar s &:

i.19 x 13 = 190 + 57

ii. (-34-53)+23=-34+-30

1. i - Commutative property, ii - Associative property /1 - pafafTg 0T, ii - BSREIR] o7
2. i- Distributive property, ii - Closure property /1 - ICGRUIEEED 0T, ii - FHTY 0T

3. i - Commutative property, ii - Closure property / i - SPHQMRE T, ii - FHYH 0T

4. i - Distributive property, ii - Associative property /i - ﬁﬂTUW‘IUT, ii - GgAR ur
Correct Answer :-

 i- Distributive property, ii - Associative property /i - ﬁww, ii - GgaR qur

33) Choose the solution for the equation: x+9 =12./
HHIDBRT: x+9 = 12 F T BT TG DL |

1.3

2.4

3.2

4. 6

Correct Answer :-

34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2
rounds of rope at the rate of Rs. 10 per metre. Find the cost of fencing. /

TISHA & UTH 210 HIex T 3R 165 Her NS UH AMAATPR a9 g1 98 10 TR Ufa v Frw |
& & 2 RN A 3T 9T T AT 3 | TS T B ARTT 97 L |

1. Rs 15000/ 15000 30
2. Rs 7500 / 7500 Y
3. Rs 6930 /6930 348

4. Rs 693000 / 693000 30T

Correct Answer :-



« Rs 15000/ 15000 308

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
a3 y-318f ¥ T fog o1 diaad gt 4 3915 o, A1 g &:

1. y coordinate 4 / y &= 4

2. x coordinate -4 / x FGRI® -4

3. x coordinate 4 / x =T 4

4. x coordinate 4 or -4 / x AS® 4 31YaT -4

Correct Answer :-

« x coordinate 4 or -4 / x FIGRI® 4 3{YdT -4

36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

Tfe Ud® (-3,6),(0,3) TH (3,0) Th WP THHI0T x Td y A g1 §, af JHIHT &
1. y=x-3

2. y=x13

3. xt+y=3

4. y+2x=0

Correct Answer :-

o xty=3

37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
39 Y &1 e 91 B forget = p2,0), Q(5,0) TE R(5,2) B:

1. 25 units® / 25 3HTS2

2. 6 units? / 6 SHIS2

3. 4 units? / 4 P12

4. 3 units? / 3 SHIS2



Correct Answer :-

e 3units? /3 SHIE2

38) Which one of the following points does not lie on the line 2y = 5x-2? /
Frafafea & @ o-9t fdg Y1 2y = sx-2 R Ra 6 3?2

1. (0,-1)

2. (-4,-11)

3. (-2,0)

4.24)

Correct Answer :-

39) Which one of the following is not a teaching style? /

Frafafad # 9 F19-30 ve Rrgor Aeit 781 82
1. Scolding / TIeq T

2. Demonstration / UeRH
3. Inquiry / ST/
4. Discovery / 39U

Correct Answer :-

. Scolding / ferea T

40) Which one of the following statements is false about polynomial? /
fFrafafaa ¥ @ $19-91 FY= 9gue & a9y § 3R 32

1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x)
and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / faursH ToHfafY
& IIER, WIS TGUS p(x) BT 51§ HIST g(x) F Ao e Simar &, @ wImwe q(x) Td W r(x) 9 THR IO 8
e p(x) = 9(x) a(x) + r(x), STEl r(x) BT 1 = g(x) BT °NI T

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / HTd 3 & I TH ggUq T 3feremdd 3
() B qbd B

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / 9Td 2 FANTH § gua T 3feremdH 2
YR B 9Hd 5|




4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). /i U

TR BT AT x-318f BT & fagafl )R Flear g, & THH0 § 2 L () 8id g |

Correct Answer :-

» According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient
q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / IELISE
TUHAR & AR, HTST §gUS p(x) Pl 518 HISTH g(x) I fauifora faran Sran g, df 4T d q(x) Td 9 r(x) 39
TR <l © b p(x) = g(x) q(x) + r(x), STET r(x) BT U1 > g(x) T 1A &

41) Abscissa is also known as the ./
YT (YSIi) S Am QW AAT S g
1. X-axis / X - &

2. Point / ﬁl‘g{

3. Ordinate / PIfc el

4, Y-axis / Y - A&

Correct Answer :-

o X-axis /X - H&

42) Visualizations and drawing conclusion is achieved through the study of )

U R IGH (shy & e & AT | U fhar wrar g1
1. Analytical Geometry / facINUNTE® SaTHTT

2. Spatial geometry / ST SHTIATC

3. Algebra / STSRTIOIG

4. Arithmetic / 3{ITOT

Correct Answer :-

 Spatial geometry / TS i

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle.

The area of circle is: / IqS A P GTS 44 A 31 TS 3P <1 BR T AU s AU &4 &, ) a8 g« s41a1
HECEIREL KD

1. 14 cm? / 14 Q2

2. 44 cm? / 44 92



3. 154 cm? / 154 92
4. 28 cm?/ 28 92

Correct Answer :-

e 154 cm?/ 154 Q2

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits
interchange their places. Then the unit digit of the number is: /

3 P JEAT & 3P| BTN 5 2| gfe T A T 9 U ST 8, a1 3/ 3y R ufafdd o ad &, al
TS BT DTS 3P 2

1.2
2.9
3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circle is ./

gfe T gu @ IRfI auT ewa TeTae S udwaE e, g s e 21
1. 3 units / 3 3PT8
2. 1 unit/ 1 375
3. 4 units / 4 SPTY
4. 2 units / 2 3PT5

Correct Answer :-

. 2units/23$|'5c

46) “Let no one enter who is ignorant of mathematics” was stated by ./
«arforg I sAfHF w5 ot safea war I s 1 GRT ST 14T UT|
1. Thales / I

2. Pythagoras / UISYTIRY



3. Enchid / QHI%lS
4, Plato /ﬁa

Correct Answer :-

e Plato/ el

47) The abscissa of the point of intersection of less than ogive and more than ogive is ./

AT fAHf (ogive) A HH TUT ATY fywpol & 3if¥w & ufowde fig &1 Yo (abscissa) B
1. Mode / Sgd®

2. Mean / HTEH

3. Median / AT

4. None of the above / STRII # Y BIs Ta!

Correct Answer :-

o Median / ATfE®T

48) Find the odd one out. /
fawm g

1. <

2. =

3.0

4. #

Correct Answer :-

49) Generalisation of Arithmetic is: /
SHITIO PT ATHRNBT :

1. Algebra I ISIUG]

2. Probability/m

3. Statistics / iR

4. Calculus / FeHpad



Correct Answer :-

o Algebra / SrSrTforda

50) Asingle linear equation in two variables has: /
A RN A Tra AP THFHRT EA 7

1. Maximum two solutions / 3if¥eaw & Bd

2. An unique solution / Th G-I'@T‘ﬂ'q ?d

3. Infinitely many solutions / 3/=id 8

4. More than 2 but less than 4 solutions / &l ¥ 319 dfds 4 T HH §A

Correct Answer :-

o Infinitely many solutions / 3/Hd 8

51) 'Let no one who is unacquainted with geometry enter here' is connected with ./
313 ot safea oY s & s 8, gefwdmr AR, S uafa gl

1. The Sophist School / Tfthee hd

2. The Platonic School /WW

(N

3. The First Alexandrian School / T8 3fAidoi[Gd o

4. The lonic School / WW

Correct Answer :-

 The Platonic School /WW

52) Which of the following is considered as undefined term? /

fraferfad & A A srafyyita ue AT SITaT 82
1. Point/ﬁs—g}r

2. Quadrilateral /ﬂﬂ"iﬁ
3. Circle / 9d

4. Prime Number / 3{HTST I&AT

Correct Answer :-

. Point/]c?q"@,r



53) The author of Lilavathi was: /

Hdradt & d@®

1. Brahmagupta / SIlgl{ [t
2. Aryabhatta / &rr!f“—rg'

3. Bhaskaracharya / UG
4. Ramanujan / XTHISIH

Correct Answer :-

e Bhaskaracharya / UG

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / 9f P(3,-5) Td Q(-3,-6) &I fagl &, @t Q & P-dIfe FT YT 3:

1.0

2.3

55) CANCELLED

In APQR, £P = 90° and X is the mid- point of PR. The value of QR? — QX? is equal to .
| APQR#A, £P=90° T PR &I ALAMEG X 1 QR? — QX? & I = gl

1. 213"}‘(2
2. 3PX2
3. 415'.1‘(2
a. PX?

Correct Answer :-



56) 3m6cm=7?/

3dlcr6qH =2

1. 3600 cm / 3600 T
2. 360 cm / 360 9Ht

3. 306 cm / 306 It

4.30.6 cm/30.6 99

Correct Answer :-
« 306 cm /306 IH

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins
Rs. 20., and finds that he has exactly what he had in the beginning .What was the amount he
originally had ? /

T ATSHT 3Tt YFRTIRT BT Uoh-fagTe R wa1 8, {10 37 Sfiidar 8, 39P 91¢ o1 @ S9P1 Ush-fags

;s'ﬁnﬁrm%, 20 Y Siiddr 8, 39 3P U Ia-T g YARIRT & et sy & fY | 39 ury g o=y farait
?

1.Rs.12/ 12398

2. Rs.24 /2430

3. Rs.48 / 48 30

4. Rs.36 /36 3

Correct Answer :-

o Rs.48/48 300

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and
the largest angle is. /

afe Y & S0 BT FUTE 2: 3: 4 B, 9 GO DI 3R TIQ I8 BV & S BT 3R A B

60°



200
Correct Answer :-
40°

59) If a regular hexagon is having side of 12 cm , then its areais: /

ofe TH G Yy &1 Yo 12 A §, a9 39T &% §:

156v2

25642

216V3
3,

1293

Correct Answer :-
216V3

60)

Which one of the following expressions is false? /

frafafad § @ 19-91 e Tad 82
a)9999 <1000
b)1052<1025

€)958765>957865
1.Bothaand b/aTdbaHl
2. Only b/®ddb

3. Bothb andc/b@ciﬁ*ﬁ

4. Onlya/Wa

Correct Answer :-



« Bothaand b/atqdbgHl



